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ANSWER KEY
|- READING COMPREHENSION (8 marks)
A- Multiple choice questions. (2 marks)

1-b- they aren’t conscious that they are being observed.

2-c- cybercriminals know how organizations communicate with customers.

B- True or false. (3 marks)
3-True: line 1-2 “wherever there is commerce, there is also the risk for cybercrime.”
4-False:a-line2 and 3 “Whether a financial institution, an internet storefront that does

business with online shoppers, and now even hospitals with the rising tide of
ransom ware, cybercrime has no boundaries.”
b-line(13 -14 ) “anyone with an email address, an inbox, or a social media account is
a target.”
5-True : (line 27-28 ) “‘Cybercriminals have long shared their knowledge and expertise in
order to drive their success, and defenders must take the same approach.”

C- Referencing. (1 mark)
6- This innovative tool(line7): smartphone
7-We(how we detect)((line 26): defenders

D- Cloze test. (2 marks)

8-boundaries 9-cybercriminals 10-transactions/communication 11-myriad

Il- LINGUISTIC AND COMMUNICATIVE COMPETENCE (7 marks)
—_—— e S NVNICATIVE COMPETENCE

E- Dialogue completion. ( 3 marks)

12-accepting

13-hasn't it?

14-technologically

15-they proceed/ they manage to deceive people.
16-such as/ like /for example

17-solutions do you suggest to fight cyber criminality?

F- Word derivation
18-growth 19-carefully 20-influential 21-powerful

G- Error correction
22-have shown 23-their reports
24-has become 25-deceiving.




